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import sys
sys.path.append("statlib")
from xtest import U_test

U_test(x, y, correct=False, verbose=True)
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import numpy as np

X = np.repeat([1, 2, 3, 4], [9, 12, 6, 3])
np.repeat([1l, 2, 3, 4], [4, 9, 11, 5])

import sys
sys.path.append("statlib")
from xtest import U_test

a = U_test(x, y, correct=False)

Mann-Whitney U test
U = 310.5, EQU) = 435, V(@) = 3993.6, Z = 1.9701, p value = 0.04883

X = np.array([[10, 5, 1], [4, 7, 311D

b U_test(x, correct=False)

Mann-Whitney U test
Uu=170, E®U =112, V(U) = 481.99, Z = 1.9131, p value = 0.05574

X = np.array([[10, 5, 11, [4, 7, 3]11)

C U_test(x, correct=True)

Mann-Whitney U test
Uu=170, EU =112, V(U) = 481.99, Z = 1.8903, p value = 0.05872

4 EXfF® Python BI% & DLLE

4.1 scipy.stats.mannwhitneyu()

scipy.stats.mannwhitneyu(Q) &, MHIEE % 3 %546 D BHRNIC alternative="two-sided" % f§7E
LT nuEh o v, mENd U Oftil, iz 2 >OffaHao b 95— Hofl (EWU) %213 & A TR
IZdH BflH) TH 5,

from scipy.stats import mannwhitneyu

x = [3,2,2,3,4,3,2,3,4,5,6,4,3,4,6,7,5,6,6,6,3,2,5]
x = [2,2,3,3,2,3,4,4,3,4,5,6,3,4,5,4,3,3,3,4,4]
mannwhitneyu(x, y, alternative="two-sided")

MannwhitneyuResult(statistic=446.0, pvalue=0.0038060587503209154)

mannwhitneyu(y, x, alternative="two-sided")

MannwhitneyuResult(statistic=163.0, pvalue=0.0038060587503209154)

d = U_test(x, Vy)




Mann-Whitney U test
U =163, E() = 304.5, V() = 2374.1, Z = 2.8938, p value = 0.00381

print ("U =", d["U"])
U = 163.0
print("p value =", d["pvalue"])

p value = 0.0038060587503209154

4.2 scipy.stats.ranksums()

scipy.stats.ranksums() ¥ scipy.stats.mannwhitneyu() X D b 2 &R oD WVWAREFEETDH %,
scipy.stats.mannwhitneyu() EHEMEHIEZ T R0 L, HEkomMEb L v, =227V T
For tie-handling and an optional continuity correction see " scipy.stats.mannwhitneyu’ .
EHAHD, DEVHLDTH 5,

RERUT—F 20 L TH 5,

from scipy.stats import ranksums

ranksums (x, y)

RanksumsResult(statistic=2.7813351766064818, pvalue=0.005413581253738621)

<=2 7)LIC This test should be used to compare two samples from continuous distributions.
EHBDIE, It does not handle ties between measurements in x and y. & WIHJEED 2 IE4LT
527:0TH ),

PIF o & 9 7, continuous distributions 2> 5 D> 7% 5, FIEM A2\ ClE UK RIC % 5 53,

[28.897, 45.858, 55.383, 72.46, 51.985, 51.176]
[32.159, 50.852, 42.425, 47.513, 53.983, 53.696, 40.827, 40.757]
ranksums (v, w)

\%
w

RanksumsResult(statistic=1.0327955589886444, pvalue=0.3016995824783478)

mannwhitneyu(v, w, alternative="two-sided", use_continuity=False)

MannwhitneyuResult(statistic=32.0, pvalue=0.3016995824783478)

e = U_test(v, w, correct=False)

Mann-Whitney U test
U=16, E®U) =24, V@U) =60, Z=1.0328, p value = 0.30170

print ("U =", e["U"])
U=16.0
print("p value =", e["pvalue"])

p value = 0.3016995824783478



